231003.notebook

2.9 - Linear Approximations and Differentials

Recall the tangent line to f at (xo, yo).
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Verify the given linear approximation at 8 = 0. Then determine the values of x for which the linear approximation is accurate to within 0.1.
(Enter your answer using interval notation. Round your answers to three decimal places.)
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solve( experiment(x) < .1)
(—o, —0.2673261179), (—0.01511982877, 0.01846306269)

solve( experiment(x) > —.1)
(—0.2679549364, —0.1666666667), ( —0.1666666667, o= )
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Verify the given linear approximation at @ = 0. Then determine the values of x for which the linear approximation is accurate to within 0.1.
(Enter your answer using interval notation. Round your answers to three decimal places.)
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Just looking at this picture, it's evident that the tangent line never hits
the g(x) + 0.1. We need the 2 intersections with g(x) - 0.1

solve(L(x) =g(x) —.1)
0.01846306269,)— 0T 7F84252347——0-1060173085 1. /4 0.01511982877 ) —0.2673261179, —6-4+F84252247
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Verify the given linear approximation at @ = 0. Then determine the values of x for which the linear approximation is accurate to within 0.1.
(Enter your answer using interval notation. Round your answers to three decimal places.)
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